
1) Find area of triangle 
a = 42 ft, b = 89 ft

Answer: ____________

2) Round 10.1155 to the nearest whole 
number.

Answer: ____________

3) Find the value of 'j' by completing the 
square of the following equation: 2 + 
10j + 16

Answer: ____________

4) Solve by factorising 
x2 + 12x - 13 = 0

Answer: ____________

5) Find area of triangle 
s = 66 in

Answer: ____________

6) Find area of triangle 
s = 76 ft

Answer: ____________

7) Find area of triangle 
s = 76 ft

Answer: ____________

8)
64

4 /8

Answer: ____________

9) Decrease 74 by 1/37

Answer: ____________

10)
8

4 /12

Answer: ____________

Total: ___ / 10
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Answers:

1) 763.83440613787ft 2) 10
3) (j + 5)2

- 9
4) x = 1 
or -13

5) 1886.2033294425in 6) 2501.0813661295ft 7) 2501.0813661295ft

8) 8 9) 72 10) 2
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